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QUESTION 1

Which statement is true about the mapping of a UDDI tModel in the JAXR 1.0 specification? 

A. JAXR APIs cannot be used with a UDDI registry using tModels. 

B. UDDI tModels are mapped to the JAXR ServiceBinding interface. 

C. UDDI tModels are mapped to JAXR ServiceBinding and JAXR Organization. 

D. UDDI tModels are mapped to JAXR ClassificationScheme and JAXR Concept. 

Correct Answer: D 

 

QUESTION 2

What are two features of a WSDL 1.1 document? (Choose two.) 

A. Service defines a collection of related endpoints. 

B. Service describes the message\\'s payload using XML. 

C. Service assigns an Internet address to a specific binding. 

D. Porttype declares complex data types and elements used elsewhere. 

E. Porttype elements are used to group a set of abstract operations. 

F. Porttype defines a concrete protocol and data format specification. 

Correct Answer: AE 

 

QUESTION 3

Which two statements are true about Java clients that use a security token service (STS) supported by the security
features of WSIT? (Choose two.) 

A. The client only requires a keystore. 

B. STS requires a default user name configuration. 

C. Using an STS-issued token requires a keystore and a truststore. 

D. HTTPS must be configured. 

E. An authorized client receives a token digitally signed by the STS. 

Correct Answer: CE 
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QUESTION 4

Which two statements are true about the Web services? (Choose two.) 

A. SOAP messages are compressed during transport. 

B. You must implement session tracking via HTTP cookies. 

C. The WSDL defines services as collections of network endpoints. 

D. All data shared between Java and non-Java components must be in XML format. 

E. Data interchange is standardized in XML. 

F. Stateful Web services must be implemented in a heterogeneous environment. 

Correct Answer: CE 

 

QUESTION 5

A developer must create a program to parse a medium-sized XML file looking for an instance of a specific element.
Once the developer has found the element, the value must be updated and saved to disk. Which two XML parsing APIs
should be used in this situation? (Choose two.) 

A. SAX 

B. DOM 

C. StAX 

D. JAXM 

E. SAAJ 

Correct Answer: BC 

1Z0-863 VCE Dumps 1Z0-863 Practice Test 1Z0-863 Study Guide

Powered by TCPDF (www.tcpdf.org)

1Z0-863 VCE Dumps | 1Z0-863 Practice Test | 1Z0-863 Study Guide                                3 / 3

https://www.leads4pass.com/1z0-863.html
https://www.leads4pass.com/1z0-863.html
https://www.leads4pass.com/1z0-863.html
http://www.tcpdf.org
https://www.leads4pass.com/1z0-863.html
https://www.leads4pass.com/1z0-863.html
https://www.leads4pass.com/1z0-863.html

